# International Journal of Analysis and Applications

## An Algorithm for the Solution of Second Order Linear Fuzzy System With Mechanical Applications

S. Nagalakshmi<sup>1,\*</sup>, G. Suresh Kumar<sup>1</sup>, Ravi P. Agarwal<sup>2</sup>, Chao Wang<sup>3</sup>

 <sup>1</sup>Department of Engineering Mathematics, College of Engineering, Koneru Lakshmaiah Education Foundation, Vaddeswaram, Guntur, 522302, Andhra Pradesh, India
 <sup>2</sup>Department of Mathematics, Texas A&M University-Kingsville, Kingsville, TX 78363-8202, USA
 <sup>3</sup>Department of Mathematics, Yunnan University, Kunming 650091, China

\* Corresponding author: nagalakshmi.soma@gmail.com

Abstract. In this paper, we consider homogeneous and non-homogeneous second order linear fuzzy systems under granular differentiability. The concept of continuous n-dimensional fuzzy functions on the space of n-dimensional fuzzy numbers are introduced. Developed an algorithm for the solution of a non-homogeneous second order linear fuzzy system under granular differentiability. The proposed algorithm is applied to solve some well-known mechanical problems with fuzzy uncertainty.

### 1. Introduction

Mathematical models can be explained through fuzzy differential equations (FDE). The innovative work on system of fuzzy differential equations (SFDEs) extended from population models, bio informatics, quantum optics, and soft computing models. Second-order linear fuzzy systems (SLFS) are modeled by behaviors of many dynamical systems with uncertainty. SLFSs specifically appear in many spring-mass mechanical systems with uncertainty. Fard and Ghal-EH [3] proposed a numerical method to solve SFDEs under H-differentiability. Gasilov et al. [4] presented a solution method for SFDEs with fuzzy initial conditions. Mondal et al. [7] analyzed adaptive schemes to study the SFDEs. Barazandeh and Ghazanfari [1] obtained the solutions for SFDEs applying variation iteration technique. Keshavarz et al. [5] enhanced to obtain an analytical solution for SFDEs using gH-differentiability. Boukezzoula

Received: Apr. 2, 2023.

<sup>2020</sup> Mathematics Subject Classification. 34A07, 34B05.

Key words and phrases. n-dimensional fuzzy number; second-order granular derivative; system of fuzzy initial value problems.

et al. [2] enhanced a method to solve the SFDEs with variables as fuzzy intervals. The limitations of previous methods for dealing with SFDEs are derivatives do not always exist, monotonicity of the uncertainty, doubling properties, unnatural behavior in modeling phenomenon, and multiplicity of solutions.

Piegat and Landowski [11] introduced horizontal membership function (HMF), and their applications. Piegat and Pluciński [12] was stated the difference between relative distance measure interval arithmetic (RDM-IA) yields a multidimensional answer while the results produced with SIA. Mazandarani et al. [6] elaborated the concept of HMF, granular differentiability (gr-differentiability) and granular integrability (gr-integrability). Najariyan and Zhao [9] offered a solution to the fuzzy dynamical system under gr-differentiability. Nagalakshmi et al. [8] generalized the concept of fuzzy numbers to n-dimensional fuzzy numbers and developed an algorithm to solve system of first-order FBVPs under the concept of gr-differentiability.

In this manuscript, consider two types of SLFSs under gr-differentiability. The upcoming sections of this manuscript are along these lines. Section 2, presents basic definitions and propositions related to gr-differentiability of n-dimensional fuzzy valued function. Section 3, an algorithm is presented as a working method to solve SLFSs under gr-differentiability. In Section 4, we describe mechanical applications such as automobile two-axles, railway cars system, and spring-mass systems to highlight the proposed algorithm. Section 5, Conclusions and future works are analyzed.

#### 2. Preliminaries

For a later discussion, this section provides some essential notations, definitions, and findings. Suppose that the membership function,  $q : R \to [0, 1]$  of a fuzzy subset of the real number set R, satisfies the following conditions:

- (i)  $q(t_0) = 1$  for at least one  $t_0 \in R$ .
- (ii)  $q(\lambda y + (1 \lambda)z) \ge min\{q(y), q(z)\}, \forall \lambda \in [0, 1], y, z \in \mathbb{R}.$
- (iii) q is upper semi continuous on R.
- (iv)  $cl\{t \in R; q(t) > 0\}$  is compact.

Then it is called a fuzzy number (FN). Here q(t) is the membership degree of  $t, \forall t \in R$ . The  $\lambda$ -level sets of q are defined by  $[q]^{\lambda} = \{t \in R : q(t) \geq \lambda\} = [q_{l}^{\lambda}, q_{r}^{\lambda}]$ , for  $0 < \lambda \leq 1$  and  $[q]^{0} = cl\{t \in R : q(t) > 0\}$ . Let  $R_{F}$  denotes the space of FNs in R.

Refer to [6] for definitions, notations, and essential findings regarding HMFs, first-order granular derivative (gr-derivative), and granular integration (gr-integrations) of FNs in *R*.

**Definition 2.1.** Suppose that  $p, q \in R_F$ , whose HMFs are  $p_{gr}(\lambda, \alpha_p)$  and  $q_{gr}(\lambda, \alpha_q)$  respectively. Then  $r = p * q \in R_F$ , such that  $H(r) \triangleq p_{gr}(\lambda, \alpha_p) \circ q_{gr}(\lambda, \alpha_q)$ , where "o" and "\*" denotes any one of the operations addition, multiplication, subtraction and division in R and  $R_F$ , respectively and  $0 \notin q_{gr}(\lambda, \alpha_q)$  if "\*" denotes the division. That is

- (1)  $H(p \oplus q) \triangleq p_{gr}(\lambda, \alpha_p) + q_{gr}(\lambda, \alpha_q),$
- (2)  $H(p \otimes q) \triangleq p_{gr}(\lambda, \alpha_p)q_{gr}(\lambda, \alpha_q),$
- (3)  $H(p \ominus q) \triangleq p_{gr}(\lambda, \alpha_p) q_{gr}(\lambda, \alpha_q),$
- (4)  $H(p \oslash q) \triangleq p_{gr}(\lambda, \alpha_p) \div q_{gr}(\lambda, \alpha_q),$
- (5)  $H(k \odot q) \triangleq k q_{gr}(\lambda, \alpha_q)$ ,

where  $k \in R$  and  $p, q, r \in R_F$ .

**Definition 2.2.** [9] Let  $f : [a, b] \to R_F$ , be the FF. If there exists  $\frac{d_{gr}^2 f(t_0)}{dt^2} \in R_F$ , such that

$$\lim_{h \to 0} \frac{f'(t_0 + h) \ominus f'(t_0)}{h} = \frac{d_{gr}^2 f(t_0)}{dt^2} = f_{gr}''(t_0),$$

then f is said to be second order gr-differentiable at a point  $t_0 \in [a, b]$ .

**Theorem 2.1.** [9] Let  $f : [a, b] \to R_F$ . Then f is twice gr-differentiable if and only if its HMF is twice differentiable with respect to  $t \in [a, b]$ . Moreover,

$$H\left(\frac{d_{gr}^2 f(t)}{dt^2}\right) = \frac{\partial^2 f_{gr}(t,\lambda,\alpha_f)}{\partial t^2}$$

**Proposition 2.1.** Let  $f : [a, b] \to R_F$  be a FF, with  $[f(t)]^{\lambda} = [f_l^{\lambda}(t), f_r^{\lambda}(t)]$ . The FF f is grdifferentiable twice on [a, b] if and only if  $(f_l^{\lambda})'(t)$  and  $(f_r^{\lambda})'(t)$  are differentiable on [a, b].

*Proof.* Since  $[f(t)]^{\lambda} = [f_{l}^{\lambda}(t), f_{r}^{\lambda}(t)]$ , then  $f_{gr}(t, \lambda, \alpha_{g}) = f_{l}^{\lambda}(t) + (f_{r}^{\lambda}(t) - f_{l}^{\lambda}(t))\alpha_{f}$ , where  $\lambda, \alpha_{f} \in [0, 1]$ . From Definition 2.2 and Theorem 2.1, we have

Suppose that f(t) is a gr-differentiable twice on [a, b]

$$\iff \frac{\partial^2 f_{gr}(t,\lambda,\alpha_f)}{\partial t^2} = (f_l^{\lambda})''(t) + ((f_r^{\lambda})''(t) - (f_l^{\lambda})''(t))\alpha_f$$
$$\iff (f_l^{\lambda})'(t) \text{ and } (f_r^{\lambda})'(t) \text{ are differentiable on } [a, b].$$

**Definition 2.3.** [8] Let  $R_F^n = \underbrace{R_F \times R_F \times R_F \times \cdots \times R_F}_{n \text{ times}}$ , be the space of n-dimensional fuzzy vectors whose components are fuzzy numbers. Then the addition and scalar multiplication defined component wise as follows:

If  $u = (u_1, u_2, \cdots, u_n), v = (v_1, v_2, \cdots, v_n) \in \mathbb{R}_F^n$ , then (i)  $u \oplus v = (u_1 \oplus v_1, u_2 \oplus v_2, \cdots, u_n \oplus v_n),$ (ii)  $k \odot u = (k \odot u_1, k \odot u_2, \cdots, k \odot u_n),$ 

where  $u_i, v_i \in R_F^n$ ,  $i = 1, 2, \cdots$ , n and  $k \in R$ .

**Definition 2.4.** If  $u = (u_1, u_2, \dots, u_n) \in R_F^n$ , as  $u_i \in R_F$ ,  $i = 1, 2, \dots, n$ . Then the HMF for  $u \in R_F^n$  is defined by  $u_{gr}(\lambda, \alpha_u) = (u_{1gr}(\lambda, \alpha_1), u_{2gr}(\lambda, \alpha_2), \dots, u_{ngr}(\lambda, \alpha_n))$ , where  $\lambda, \alpha_1, \dots, \alpha_n \in [0, 1]$ .

**Proposition 2.2.** Let u and v be two n-dimensional fuzzy vectors. Then u and v are said to be equal if and only if H(u) = H(v), for all  $\alpha_u = \alpha_v \in [0, 1]$ .

*Proof.* Since  $u, v \in R_F^n$ , then  $u = (u_1, u_2, \dots, u_n), v = (v_1, v_2, \dots, v_n)$ , for  $u_i, v_i \in R_F$ ,  $i = 1, 2, \dots, n$ .

Consider, 
$$u = v \iff (u_1, u_2, \dots, u_n) = (v_1, v_2, \dots, v_n)$$
  
 $\iff u_i = v_i, i = 1, 2, \dots, n.$   
 $\iff H(u_i) = H(v_i)$ , for all  $\alpha_{u_i} = \alpha_{v_i} \in [0, 1], i = 1, 2, \dots, n.$   
 $\iff (H(u_1), H(u_2), \dots, H(u_n)) = (H(v_1), H(v_2), \dots, H(v_n))$   
 $\iff H(u) = H(v)$ , for all  $\alpha_u = \alpha_v \in [0, 1]$ ,

where  $\alpha_{u} \triangleq (\alpha_{u_1}, \alpha_{u_2}, \cdots, \alpha_{u_n})$  and  $\alpha_{v} \triangleq (\alpha_{v_1}, \alpha_{v_2}, \cdots, \alpha_{v_n})$ .

**Definition 2.5.** [8] Let  $u, v \in R_F^n$ . The function  $\mathcal{D}_{ar}^n : R_F^n \times R_F^n \to R^+ \cup \{0\}$ , defined by

$$\mathcal{D}_{gr}^{n}(u, v) = \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}} \|u_{gr}(\lambda, \alpha_{u}) - v_{gr}(\lambda, \alpha_{v})\|,$$

which is called a n-dimensional granular distance between two n-dimensional fuzzy vectors u and v, where  $\|.\|$  represents Euclidean norm in  $\mathbb{R}^n$ .

**Proposition 2.3.** The function  $\mathcal{D}_{gr}^n$  is a metric on the space of  $\mathcal{R}_F^n$ .

*Proof.* Suppose that  $R_F^n$  is a non-empty set and  $\mathcal{D}_{gr}^n : R_F^n \times R_F^n \to R^+ \cup \{0\}$  is real-valued function.

(i) Consider,

$$\mathcal{D}_{gr}^{n}(u,v) = \sup_{\lambda} \max_{\alpha_{u},\alpha_{v}} \|u_{gr}(\lambda,\alpha_{u}) - v_{gr}(\lambda,\alpha_{v})\| > 0.$$

(ii) Consider,

$$\mathcal{D}_{gr}^{n}(u, v) = 0 \iff \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}} \|u_{gr}(\lambda, \alpha_{u}) - v_{gr}(\lambda, \alpha_{v})\| = 0$$
$$\iff \|u_{gr} - v_{gr}\| = 0$$
$$\iff u_{gr} - v_{gr} = 0$$
$$\iff u_{gr} = v_{gr}$$
$$\iff u = v.$$

(iii) Consider,

$$\mathcal{D}_{gr}^{n}(u, v) = \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}} \|u_{gr}(\lambda, \alpha_{u}) - v_{gr}(\lambda, \alpha_{v})\|$$
$$= \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}} \|v_{gr}(\lambda, \alpha_{v}) - u_{gr}(\lambda, \alpha_{u})\|$$
$$= \mathcal{D}_{gr}^{n}(v, u).$$

(iv) Consider,

$$\begin{aligned} \mathcal{D}_{gr}^{n}(u,w) &= \sup_{\lambda} \max_{\alpha_{u},\alpha_{w}} \|u_{gr}(\lambda,\alpha_{u}) - w_{gr}(\lambda,\alpha_{w})\| \\ &= \sup_{\lambda} \max_{\alpha_{u},\alpha_{v},\alpha_{w}} \|u_{gr}(\lambda,\alpha_{u}) - v_{gr}(\lambda,\alpha_{v}) + v_{gr}(\lambda,\alpha_{v}) - w_{gr}(\lambda,\alpha_{w})\| \\ &\leq \sup_{\lambda} \max_{\alpha_{u},\alpha_{v}} \|u_{gr}(\lambda,\alpha_{u})_{gr} - v_{gr}(\lambda,\alpha_{v})\| + \sup_{\lambda} \max_{\alpha_{v},\alpha_{w}} \|v_{gr}(\lambda,\alpha_{v}) - w_{gr}(\lambda,\alpha_{w})\| \\ &= \mathcal{D}_{gr}^{n}(u,v) + \mathcal{D}_{gr}^{n}(v,w). \end{aligned}$$

From (i)-(iv),  $(R_F^n, \mathcal{D}_{qr}^n)$  is a metric space.

**Theorem 2.2.**  $(R_F^n, \mathcal{D}_{ar}^n)$  is a complete metric space (CMS).

*Proof.* If any Cauchy sequence of n-dimensional fuzzy vectors in  $(R_F^n, \mathcal{D}_{gr}^n)$  is convergent then the proof concluded.

Suppose that  $u_m \in R_F^n$ ,  $m \ge 1$  is a Cauchy sequence. Then for all  $\epsilon_1 > 0$ , there exists  $N \ge 1$  such that  $\mathcal{D}_{qr}^n(u_m, u_{m+p}) < \epsilon_1$ , for all  $m \ge 1$ ,  $q \ge 1$ .

$$\mathcal{D}^{n}_{gr}(u_{m}, u_{m+p}) < \epsilon_{1}$$

$$\implies \sup_{\lambda} \max_{\alpha_{u_{m}}, \alpha_{u_{m+p}}} \|u_{m_{gr}}(\lambda, \alpha_{u_{m}}) - u_{m+p_{gr}}(\lambda, \alpha_{u_{m+p}})\| < \epsilon_{1}$$

$$\implies \|u_{m_{gr}} - u_{m+p_{gr}}\| < \epsilon_{1}.$$

Now  $\{u_{m_{gr}}\}$  is a Cauchy sequence in the space of  $\mathbb{R}^n$ . Clearly  $\{u_{m_{gr}}\}$  is convergent in  $\mathbb{R}^n$  and  $u_{mi_{gr}}(\lambda, \alpha_{u_{mi}}) = u_{mi_l}^{\lambda} + (u_{mi_r}^{\lambda} - u_{mi_l}^{\lambda})\alpha_{u_{mi}}$ , where  $\lambda, \alpha_{u_{mi}} \in [0, 1]$ .

Since  $u_{mi_{gr}}(\lambda, \alpha_{u_{mi}})$  is convergent, so that  $u_{mi_{I}}^{\lambda}$  and  $u_{mi_{r}}^{\lambda}$  are convergent.

Suppose that  $\lim_{n\to\infty} u_{mil}^{\lambda} = u_{il}^{\lambda}$  and  $\lim_{n\to\infty} u_{mir}^{\lambda} = u_{ir}^{\lambda}$ . Since  $u_{mil}^{\lambda} \leq u_{mir}^{\lambda}$ , so that  $u_{il}^{\lambda} \leq u_{ir}^{\lambda}$  for all  $i = 1, 2, \dots, n$ . If  $[u_{il}^{\lambda}, u_{ir}^{\lambda}]$ ,  $i = 1, 2, \dots, n$  are  $\lambda$ -level sets of  $u_i$ , then proof will be complete. It is shown in the same manner in the proof of Theorem 4 [6], and therefore is left off.

**Lemma 2.1.** Suppose that  $u, v, w, s \in \mathbb{R}^n_F$  and  $\mu \in \mathbb{R}$ , then the below results hold:

- (i)  $\mathcal{D}_{qr}^n(u \oplus v, w \oplus s) \leq \mathcal{D}_{qr}^n(u, w) + \mathcal{D}_{qr}^n(v, s)$ .
- (ii)  $\mathcal{D}_{ar}^{n}(\mu \odot u, \mu \odot v) = |\mu| \mathcal{D}_{ar}^{n}(u, v).$
- (iii)  $\mathcal{D}_{ar}^n(u \oplus v, w \oplus v) \leq \mathcal{D}_{ar}^n(u, w)$ .

*Proof.* (i) From Definition 2.5, we have

$$\mathcal{D}_{gr}^{n}(u \oplus v, w \oplus s)$$

$$= \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}, \alpha_{w}, \alpha_{s}} \|(u_{gr}(\lambda, \alpha_{u}) + v_{gr}(\lambda, \alpha_{v})) - (w_{gr}(\lambda, \alpha_{w}) + s_{gr}(\lambda, \alpha_{s}))\|$$

$$= \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}, \alpha_{w}, \alpha_{s}} \|(u_{gr}(\lambda, \alpha_{u}) - w_{gr}(\lambda, \alpha_{w})) + (v_{gr}(\lambda, \alpha_{v}) - s_{gr}(\lambda, \alpha_{s}))\|$$

$$\leq \sup_{\lambda} \max_{\alpha_{u},\alpha_{w}} \|u_{gr}(\lambda,\alpha_{u}) - w_{gr}(\lambda,\alpha_{w})\| + \sup_{\lambda} \max_{\alpha_{v},\alpha_{s}} |(v_{gr}(\lambda,\alpha_{v}) - s_{gr}(\lambda,\alpha_{s}))\|$$
  
=  $\mathcal{D}_{gr}^{n}(u,w) + \mathcal{D}_{gr}^{n}(v,s).$ 

(ii) From Definition 2.5, we have

$$\mathcal{D}_{gr}^{n}(\mu \odot u, \mu \odot v) = \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}, \alpha_{\mu}} \|\mu u_{gr}(\lambda, \alpha_{u}) - \mu v_{gr}(\lambda, \alpha_{v})\|$$
$$= |\mu| \sup_{\lambda} \max_{\alpha_{u}, \alpha_{v}} \|u_{gr}(\lambda, \alpha_{u}) - v_{gr}(\lambda, \alpha_{v})\|$$
$$= |\mu| \mathcal{D}_{gr}^{n}(u, v).$$

(iii) From (i), we have

$$\mathcal{D}_{gr}^{n}(u \oplus v, w \oplus v)$$
$$= \mathcal{D}_{gr}^{n}(u, w) + \mathcal{D}_{gr}^{n}(v, v)$$
$$= \mathcal{D}_{gr}^{n}(u, w).$$

Г		
L	-	

**Proposition 2.4.** If  $f : [a, b] \to \mathbb{R}_F^n$  is a fuzzy function, then it is called an n-dimensional fuzzy valued function on [a, b].

*Proof.* Since  $f : [a, b] \to R_F^n$  is a fuzzy function, then  $f(t) \in R_F^n$ , for all  $t \in [a, b]$ . Therefore  $f(t) = (f_1(t), f_2(t), \dots, f_n(t))$ , for all  $t \in [a, b]$  and  $f_i(t) \in R_F$ ,  $i = 1, 2, \dots, n$ . Thus f(t) is a *n*-dimensional fuzzy vector for each  $t \in [a, b]$  and hence  $f : [a, b] \to R_F^n$ , is a *n*-dimensional fuzzy valued function on [a, b].

**Proposition 2.5.** If  $f : [a, b] \to R_F^n$  is a n-dimensional fuzzy valued function, include  $mn \in N$  distinct FNs, then the HMF of f is denoted by  $H(f(t)) \triangleq f_{gr}(t, \lambda, \alpha_f)$ , and interpreted as  $f_{gr} : [a, b] \times [0, 1] \times [0, 1] \times [0, 1] \times \cdots \times [0, 1] \to R^n$ , in which  $\alpha_f \triangleq (\alpha_{i_1}, \alpha_{i_2}, \dots, \alpha_{i_m})$ , where  $\alpha_{i_1}, \alpha_{i_2}, \dots, \alpha_{i_m}$  are the mn RDM variables for  $u_{i_1}, u_{i_2}, \dots, u_{i_m}$  for  $i = 1, 2, \cdots, n$ .

*Proof.* Since  $f : [a, b] \rightarrow R_F^n$  is a *n*-dimensional fuzzy valued function, so that  $f(t) = (f_1(t), f_2(t), \ldots, f_n(t))$ , for all  $t \in [a, b]$  and  $f_i(t) \in R_F^n$ ,  $i = 1, 2, \ldots, n$ . Therefore

$$H(f(t)) = (H(f_{1}(t)), H(f_{2}(t)), \dots, (f_{n}(t)))$$
  
$$f_{gr}(t, \lambda, \alpha_{f}) = (f_{1_{gr}}(t, \lambda, \alpha_{1_{1}}, \alpha_{1_{2}}, \dots, \alpha_{1_{m}}), f_{2_{gr}}(t, \lambda, \alpha_{2_{1}}, \alpha_{2_{2}}, \dots, \alpha_{2_{m}}),$$
  
$$\dots, f_{n_{gr}}(t, \lambda, \alpha_{n_{1}}, \alpha_{n_{2}}, \dots, \alpha_{n_{m}}))$$

where  $\alpha_f \equiv (\alpha_{i_1}, \alpha_{i_2}, ..., \alpha_{i_m}) \in [0, 1], i = 1, 2, ..., n.$ 

**Definition 2.6.** Let  $f : [a, b] \to R_F^n$  be a n-dimensional fuzzy valued function. The limit of f(t) as  $t \to p$  is  $q \in R_F^n$ , which is subject to following conditions:

- (i) If  $p \in (a, b)$ , for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $|t p| < \delta_1 \implies D^n_{gr}(f(t), q) < \epsilon_1$ , and write it as  $\lim_{t \to 0} f(t) = q$ .
- (ii) If p = b, for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $0 < t b < \delta_1 \implies D^n_{gr}(f(t), q) < \epsilon_1$ , and write it as  $\lim_{t \to b+} f(t) = q$ .
- (iii) If p = c, for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $0 < c t < \delta_1 \implies D^n_{gr}(f(t), q) < \epsilon_1$ , and write it as  $\lim_{t \to c_-} f(t) = q$ .

**Definition 2.7.** Let  $f : [a, b] \to R_F^n$  be a n-dimensional fuzzy valued function. The function f(t) is said to be continuous at t = p if  $f(p) \in R_F^n$ , which is subject to following conditions:

- (i) If  $p \in (a, b)$ , for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $|t p| < \delta_1 \implies D^n_{gr}(f(t), f(p)) < \epsilon_1$ , and write it as  $\lim_{t \to p} f(t) = f(p)$ .
- (ii) If p = b, for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $0 < t b < \delta_1 \implies D^n_{gr}(f(t), f(b)) < \epsilon_1$ , and write it as  $\lim_{t \to b+} f(t) = f(b)$ .
- (iii) If p = c, for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $0 < c t < \delta_1 \implies D^n_{gr}(f(t), f(c)) < \epsilon_1$ , and write it as  $\lim_{t \to c_-} f(t) = f(c)$ .

**Note 2.1.** [8] If f, h:  $[a, b] \to R_F^n$  are n-dimensional fuzzy valued functions, then the granular distance is

$$D_{gr}(f(t), h(t)) = \sup_{\lambda} \max_{\alpha_f, \alpha_h} \|f_{gr}(t, \lambda, \alpha_f) - h_{gr}(t, \lambda, \alpha_h)\|,$$

where  $t \in [a, b] \subset R$  and  $\lambda, \alpha_f, \alpha_h \in [0, 1]$ .

Refer to [8] first-order gr-derivative, and gr-integration for n-dimensional fuzzy valued function. Now, we define second order gr-differentiability for n-dimensional fuzzy valued function.

**Definition 2.8.** Let  $f : [a, b] \to R_F^n$ , be the n-dimensional fuzzy valued function. If there exists  $\frac{d_{g_r}^2 f(t_0)}{dt^2} \in R_F^n$ , such that

$$\lim_{h \to 0} \frac{f'(t_0 + h) \ominus f'(t_0)}{h} = \frac{d_{gr}^2 f(t_0)}{dt^2} = f_{gr}''(t_0),$$

this limit is taken in the metric space  $(R_F^n, D_{gr}^n)$ . Then f is said to be second order gr- differentiable at a point  $t_0 \in [a, b]$ .

**Theorem 2.3.** Let  $f : [a, b] \to R_F^n$  be a n-dimensional fuzzy valued function, then f is gr-differentiable if and only if its HMF is differentiable with respect to  $t \in [a, b]$ . Moreover,

$$H\left(\frac{d_{gr}^2f(t)}{dt^2}\right) = \frac{\partial^2 f_{gr}(t,\lambda,\alpha_f)}{\partial t^2}.$$

*Proof.* Assuming that f is second order gr-differentiable then f is first order gr-differentiable and

$$H\left(\frac{d_{gr}f(t)}{dt}\right) = \frac{\partial f_{gr}(t,\lambda,\alpha_f)}{\partial t}.$$

for  $t \in (a, b)$ . Based on the Definition 2.6 and Definition 2.8, for all  $\epsilon_1 > 0$ , there exits  $\delta_1 > 0$  such that  $|h| < \delta_1 \implies D^n_{gr}(\frac{f'(t+h) \ominus f'(t)}{h}, \frac{d_{gr}^2 f(t)}{dt^2}) < \epsilon_1$ 

$$\Rightarrow \sup_{\lambda} \max_{\alpha_{f}} \left\| \frac{f'_{gr}(t+h,\lambda,\alpha_{f}) - f'_{gr}(t,\lambda,\alpha_{f})}{h} - \frac{d^{2}_{gr}f_{gr}(t,\lambda,\alpha_{f})}{dt^{2}} \right\| < \epsilon_{1}$$

$$\Rightarrow \left\| \frac{f'_{gr}(t+h,\lambda,\alpha_{f}) - f'_{gr}(t,\lambda,\alpha_{f})}{h} - \frac{d^{2}_{gr}f_{gr}(t,\lambda,\alpha_{f})}{dt^{2}} \right\| < \epsilon_{1}$$

$$\Rightarrow \lim_{h \to 0} \frac{f'_{gr}(t+h,\lambda,\alpha_{f}) - f'_{gr}(t,\lambda,\alpha_{f})}{h} = \frac{d^{2}_{gr}f_{gr}(t,\lambda,\alpha_{f})}{dt^{2}}$$

$$\Rightarrow \frac{\partial^{2}f_{gr}(t,\lambda,\alpha_{f})}{\partial t^{2}} = H\left(\frac{d^{2}_{gr}f(t)}{dt^{2}}\right).$$

**Proposition 2.6.** Let  $f : [a, b] \rightarrow R_F^n$  be a n-dimensional fuzzy valued function defined by  $f(t) = (f_1(t), f_2(t), \dots, f_n(t))$  for all  $x \in [a, b]$  and  $f_i(t) \in R_F$ , with  $[f_i(t)]^{\lambda} = [f_{i_i}^{\lambda}(t), f_{i_r}^{\lambda}(t)]$ ,  $i = 1, 2, \dots, n$ . The n-dimensional fuzzy valued function f is gr-differentiable twice on [a, b] if and only if  $(f_{i_r}^{\lambda})'(t)$  and  $(f_{i_r}^{\lambda})'(t)$  are differentiable on [a, b], for all  $i = 1, 2, \dots, n$ .

*Proof.* Since  $f_{gr}(t, \lambda, \alpha_f) = (f_{1_{gr}}(t, \lambda, \alpha_1), f_{2_{gr}}(t, \lambda, \alpha_2), \cdots, f_{n_{gr}}(t, \lambda, \alpha_n))$ , then

$$f_{gr}(t,\lambda,\alpha_{f}) = \left( (f_{1_{l}}^{\lambda}(t) + (f_{1_{r}}^{\lambda}(t) - f_{1_{l}}^{\lambda}(t))\alpha_{1}), (f_{2_{l}}^{\lambda}(t) + (f_{2_{r}}^{\lambda}(t) - f_{2_{l}}^{\lambda}(t))\alpha_{2}), \cdots, \right. \\ \left. (f_{n_{l}}^{\lambda}(t) + (f_{n_{r}}^{\lambda}(t) - f_{n_{l}}^{\lambda}(t))\alpha_{n}) \right),$$

where  $\lambda$ ,  $\alpha_f \triangleq (\alpha_1, \alpha_2, \cdots, \alpha_n) \in [0, 1]$ . From Definition 2.8 and Theorem 2.3, we have

Suppose that f(t) is a gr-differentiable twice on [a, b]

$$\Leftrightarrow \frac{\partial^2 f_{gr}(t,\lambda,\alpha_f)}{\partial t^2} = \left( ((f_{1_l}^{\lambda})''(t) + ((f_{1_r}^{\lambda})''(t) - (f_{1_l}^{\lambda})'(t))\alpha_1 \right), \\ ((f_{2_l}^{\lambda})''(t) + ((f_{2_r}^{\lambda})''(t) - (f_{2_l}^{\lambda})''(t))\alpha_2 \right), \cdots, ((f_{n_l}^{\lambda})''(t) + ((f_{n_r}^{\lambda})''(t) - (f_{n_l}^{\lambda})''(t))\alpha_n) \right) \\ \Leftrightarrow (f_{i_l}^{\lambda})'(t) \text{ and } (f_{i_r}^{\lambda})'(t), \text{ are differentiable on } [a, b] \text{ for } i = 1, 2, \cdots, n.$$

**Definition 2.9.** If a matrix  $A = [a_{ij}]_{n \times m}$ , for all  $a_{ij} \in R_F$ ,  $i = 1, 2, \dots, n$  and  $j = 1, 2, \dots, m$ . Then that matrix A is called fuzzy matrix.

**Definition 2.10.** If  $A = [a_{ij}]_{n \times m}$  is a fuzzy matrix, then the HMF of A is defined by  $H(A) = [H(a_{ij})]_{n \times m} \triangleq [(a_{ij})_{gr}(\lambda, \alpha_{ij})]_{n \times m}$ , where  $\lambda, \alpha_{ij} \in [0, 1]$ ,  $i = 1, 2, \cdots, n$  and  $j = 1, 2, \cdots, m$ .

3. An algorithm for the solution of system of second order linear fuzzy initial value problems under (SSLFDE) gr-differentiability

Consider a SSLFDEs,

$$Z_{gr}^{\prime\prime}(t) = A \otimes Z(t) \oplus F(t), \text{ with } Z(t_0) = Z_0.$$
(3.1)

The matrix form of (3.1) is,

$$\begin{bmatrix} y_{gr}''(t) \\ z_{gr}''(t) \end{bmatrix} = \begin{bmatrix} a & b \\ c & d \end{bmatrix} \otimes \begin{bmatrix} y(t) \\ z(t) \end{bmatrix} \oplus \begin{bmatrix} f(t) \\ g(t) \end{bmatrix}, \qquad (3.2)$$

subject to, 
$$\begin{bmatrix} y(t_0) \\ z(t_0) \end{bmatrix} = \begin{bmatrix} y_0 \\ z_0 \end{bmatrix}$$
 and  $\begin{bmatrix} y'(t_0) \\ z'(t_0) \end{bmatrix} = \begin{bmatrix} y'_0 \\ z'_0 \end{bmatrix}$ . (3.3)

The following algorithm describes the procedure to compute  $\lambda$ -cut solution of SSLFDEs (3.1) if it exists.

Step 1 : Applying HMF on both sides of (3.2) and (3.3), we get

$$\begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_y)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_z)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} a_{gr}(\lambda,\alpha_a) & b_{gr}(\lambda,\alpha_b) \\ c_{gr}(\lambda,\alpha_c) & d_{gr}(\lambda,\alpha_d) \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_y) \\ z_{gr}(t,\lambda,\alpha_z) \end{bmatrix} + \begin{bmatrix} f_{gr}(t,\lambda,\alpha_f) \\ g_{gr}(t,\lambda,\alpha_g) \end{bmatrix},$$
(3.4)

with, 
$$\begin{bmatrix} y_{gr}(t_0) \\ z_{gr}(t_0) \end{bmatrix} = \begin{bmatrix} y_{0_{gr}}(\lambda, \alpha_{y_0}) \\ z_{0_{gr}}(\lambda, \alpha_{z_0}) \end{bmatrix} \text{ and } \begin{bmatrix} y'_{gr}(t_0) \\ z'_{gr}(t_0) \end{bmatrix} = \begin{bmatrix} y'_{0_{gr}}(\lambda, \alpha_{y'_0}) \\ z'_{0_{gr}}(\lambda, \alpha_{z'_0}) \end{bmatrix},$$
(3.5)

where  $\lambda$ ,  $\alpha_z$ ,  $\alpha_f$ ,  $\alpha_g$ ,  $\alpha_a$ ,  $\alpha_b$ ,  $\alpha_c$ ,  $\alpha_d$ ,  $\alpha_{y_0}$ ,  $\alpha_{z_0}$ ,  $\alpha_{y'_0}$ ,  $\alpha_{z'_0} \in [0, 1]$ . Here, (3.4) and (3.5) taken as a ordinary second order system of differential equations.

Step 2 : Solving (3.4) and (3.5), we get

$$y_{gr}(t,\lambda,\alpha_y)$$
 and  $z_{gr}(t,\lambda,\alpha_z)$ . (3.6)

Step 3 : Applying inverse HMF on both sides of (3.6), we get

$$[y(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_y} y_{gr}(t, \alpha, \alpha_y), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_y} y_{gr}(t, \alpha, \alpha_y)],$$
(3.7)

$$[z(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_z} z_{gr}(t, \alpha, \alpha_z), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_z} z_{gr}(t, \alpha, \alpha_z)],$$
(3.8)

which is the required  $\lambda$ -cut solution of SSLFDEs (3.1).

#### 4. Mechanical applications

In this section, we describe mechanical applications [13] of which the uncertain information taken as fuzzy sets.

**Example 4.1.** (Automobile with two axles) Now we have an automobile with two axles and distinct front and back suspension systems, we can examine a more realistic model. The suspension system of such a vehicle is seen in Figure 1. We suppose that the car's body behaves similarly to a solid bar with the dimensions of mass M and length  $I = I_1 + I_2$ . Its centre of mass c, which is located at a distance  $I_1$  from the front of the vehicle, has a moment of inertia I around it. The vehicle features suspension springs with Hooke's constants  $s_1$  and  $s_2$  for the front and back, respectively. Let y(t) represent the car's vertical displacement from equilibrium while it is moving, and let z(t) represent its angular displacement (in radians) from the horizontal. The equations may then be derived using Newton's laws of motion for linear and angular acceleration as follows:

$$\begin{split} M \odot y_{gr}''(t) &= -(s_1 + s_2) \odot y(t) \oplus (s_1 l_1 - s_2 l_2) \odot z(t), \\ I \odot z_{gr}''(t) &= (s_1 l_1 - s_2 l_2) \odot y(t) \ominus (s_1 l_1^2 + s_2 l_2^2) \odot z(t), \\ \text{with fuzzy initial values, } y(0) &= y_0, \, z(0) = z_0, \, y_{gr}'(0) = y_0', \, z_{gr}'(0) = z_0' \end{split}$$

Suppose that  $M = 75lb.s^2/ft$ ,  $l_1 = 7ft$ ,  $l_2 = 3ft$ ,  $s_1 = s_2 = 2000lb/ft$ ,  $l = 1000ft.lb.s^2$  and the  $\lambda$ -level sets of fuzzy initial values are  $[y_0]^{\lambda} = [z_0]^{\lambda} = [3 + \lambda, 5 - \lambda]$ ,  $[y'_0]^{\lambda} = [5 + \lambda, 7 - \lambda]$ ,  $[z'_0]^{\lambda} = [6 + \lambda, 8 - \lambda]$ .



Figure 1. two axles car.

Then the matrix equation is,

$$\begin{bmatrix} y_{gr}''(t) \\ z_{gr}''(t) \end{bmatrix} = \begin{bmatrix} -53.33 & 106.67 \\ 8 & -116 \end{bmatrix} \odot \begin{bmatrix} y(t) \\ z(t) \end{bmatrix},$$
(4.1)

subject to, 
$$\begin{bmatrix} y(0) \\ z(0) \end{bmatrix} = \begin{bmatrix} y_0 \\ z_0 \end{bmatrix}$$
 and  $\begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_0 \\ z'_0 \end{bmatrix}$ . (4.2)

Taking HMF on both sides of (4.1) and (4.2), we have

$$\begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_y)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_z)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -53.33 & 106.67 \\ 8 & -116 \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_y) \\ z_{gr}(t,\lambda,\alpha_z) \end{bmatrix},$$
(4.3)

subject to, 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} y_{0_{gr}}(\lambda, \alpha_1) \\ z_{0_{gr}}(\lambda, \alpha_1) \end{bmatrix} \text{ and } \begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_{0_{gr}}(\lambda, \alpha_2) \\ z'_{0_{gr}}(\lambda, \alpha_3) \end{bmatrix},$$
(4.4)

where  $y_{0_{gr}}(\lambda, \alpha_1) = z_{0_{gr}}(\lambda, \alpha_1) = [3+\lambda+2(1-\lambda)\alpha_1], y'_{0_{gr}}(\lambda, \alpha_2) = [5+\lambda+2(1-\lambda)\alpha_2], z'_{0_{gr}}(\lambda, \alpha_3) = [6+\lambda+2(1-\lambda)\alpha_3], \text{ where } \lambda, \alpha_1, \alpha_2, \alpha_3 \in [0, 1].$ 

The solution for second order system of equations (4.3) and (4.4) are

$$y_{gr}(t,\lambda,\alpha_1,\alpha_2,\alpha_3)$$
 and  $z_{gr}(t,\lambda,\alpha_1,\alpha_2,\alpha_3)$ . (4.5)

Applying inverse HMF on (4.5), we get

$$[y(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2, \alpha_3} y_{gr}(t, \alpha, \alpha_1, \alpha_2, \alpha_3), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2, \alpha_3} y_{gr}(t, \alpha, \alpha_1, \alpha_2, \alpha_3)],$$
$$[z(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2, \alpha_3} z_{gr}(t, \alpha, \alpha_1, \alpha_2, \alpha_3), \sup_{\lambda < \alpha < 1} \max_{\alpha_1, \alpha_2, \alpha_3} z_{gr}(t, \alpha, \alpha_1, \alpha_2, \alpha_3)].$$

#### The $\lambda$ -level sets solution is enumerated using MATLAB and is illustrated in Figure 2



Figure 2. The black curve gives the solution at  $\lambda = 1$  for the system (4.1) and (4.2).

**Example 4.2.** (One springs-two railway cars system) Figure 3 represents one spring supporting two railway cars of masses  $M_1$  and  $M_2$  respectively system to one other. If all two of the two cars rightward displacements from their respective equilibrium positions are positive, then the spring is

extended by y(t). The motion equations for the two cars are generated as follows:

$$M_1 \odot y_{gr}''(t) = -s \odot y(t) \oplus s \odot z(t),$$
$$M_2 \odot z_{gr}''(t) = s \odot y(t) \ominus s \odot z(t),$$

with fuzzy initial values,  $y(0) = y_0$ ,  $z(0) = z_0$ ,  $y'_{gr}(0) = y'_0$ ,  $z'_{gr}(0) = z'_0$ .



Figure 3. One springs-two cars systems.

Suppose that  $M_1 = 1/b.s^2/ft$ ,  $M_2 = 1/b.s^2/ft$ , and the  $\lambda$ -level sets of spring constant and fuzzy initial values are  $[s]^{\lambda} = [1 + \lambda, 3 - \lambda]$ ,  $[y_0]^{\lambda} = [z_0]^{\lambda} = [\lambda, 2 - \lambda]$ ,  $[y'_0]^{\lambda} = [1 + \lambda, 3 - \lambda]$ ,  $[z'_0]^{\lambda} = [\lambda, 2 - \lambda]$ . Then the matrix equation is,

$$\begin{bmatrix} 1 & 0 \\ 0 & 3 \end{bmatrix} \odot \begin{bmatrix} y_{gr}''(t) \\ z_{gr}''(t) \end{bmatrix} = \begin{bmatrix} -s & s \\ s & -s \end{bmatrix} \otimes \begin{bmatrix} y(t) \\ z(t) \end{bmatrix},$$
(4.6)

subject to, 
$$\begin{bmatrix} y(0) \\ z(0) \end{bmatrix} = \begin{bmatrix} y_0 \\ z_0 \end{bmatrix}$$
 and  $\begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_0 \\ z'_0 \end{bmatrix}$ . (4.7)

Taking HMF on both sides of (4.6) and (4.7), we have

$$\begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_y)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_z)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -s_{gr}(\lambda,\alpha_1) & s_{gr}(\lambda,\alpha_1) \\ s_{gr}(\lambda,\alpha_1) & -s_{gr}(\lambda,\alpha_1) \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_y) \\ z_{gr}(t,\lambda,\alpha_z) \end{bmatrix},$$
(4.8)

subject to 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} y_{0_{gr}}(\lambda, \alpha_2) \\ z_{0_{gr}}(\lambda, \alpha_2) \end{bmatrix} \text{ and } \begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_{0_{gr}}(\lambda, \alpha_1) \\ z'_{0_{gr}}(\lambda, \alpha_2) \end{bmatrix},$$
(4.9)

here  $s_{gr}(\lambda, \alpha_1) = y'_{0_{gr}}(\lambda, \alpha_1) = [1 + \lambda + 2(1 - \lambda)\alpha_1], y_{0_{gr}}(\lambda, \alpha_2) = z_{0_{gr}}(\lambda, \alpha_2) = z'_{0_{gr}}(\lambda, \alpha_2) = [\lambda + 2(1 - \lambda)\alpha_2],$  where  $\lambda, \alpha_1 \alpha_2 \in [0, 1].$ 

$$\implies \begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -(1+\lambda+2(1-\lambda)\alpha_1) & 1+\lambda+2(1-\lambda)\alpha_1 \\ 1+\lambda+2(1-\lambda)\alpha_1 & -(1+\lambda+2(1-\lambda)\alpha_1) \end{bmatrix} \\ \begin{bmatrix} y_{gr}(t,\lambda,\alpha_1,\alpha_2) \\ z_{gr}(t,\lambda,\alpha_1,\alpha_2) \end{bmatrix},$$
(4.10)

subject to, 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} \lambda + 2(1-\lambda)\alpha_1 \\ \lambda + 2(1-\lambda)\alpha_1 \end{bmatrix} \text{ and } \begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} 1+\lambda+2(1-\lambda)\alpha_2 \\ \lambda+2(1-\lambda)\alpha_1 \end{bmatrix}.$$
(4.11)

The solution for second order system of equations (4.10) and (4.11) is

$$y_{qr}(t,\lambda,\alpha_1,\alpha_2)$$
 and  $z_{qr}(t,\lambda,\alpha_1,\alpha_2)$ . (4.12)

Applying inverse HMF on (4.12), we get

$$[y(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2)],$$
$$[z(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2)].$$

The  $\lambda$ -level sets solution is enumerated using MATLAB and is illustrated in Figure 4



Figure 4. The black curve gives the solution at  $\lambda = 1$  for the system (4.6) and (4.7).

**Example 4.3.** (Two springs-two mass systems with external fuzzy force) Figure 5 represents two springs supporting two masses to one other. If all the two masses rightward displacements from their respective equilibrium positions are positive, then

- (i) The first spring is extended by y(t).
- (ii) The second spring is extended by  $z(t) \ominus y(t)$ .

The motion equations for the two masses are generated as follows:

$$M_1 \odot y_{gr}''(t) = -s_1 \odot y(t) \oplus s_2 \odot (z(t) \ominus y(t)),$$
  
 $M_2 \odot z_{gr}''(t) = -s_2 \odot (z(t) \ominus y(t)) + f(t),$ 

with fuzzy initial values,  $y(0) = y_0$ ,  $z(0) = z_0$ ,  $y'_{gr}(0) = y'_0$ ,  $z'_{gr}(0) = z'_0$ .



Figure 5. Two springs-two masses systems.

The matrix form of system of equations is

$$\begin{bmatrix} y_{gr}''(t) \\ z_{gr}''(t) \end{bmatrix} = \begin{bmatrix} s_1 & s_2 \\ s_3 & s_4 \end{bmatrix} \otimes \begin{bmatrix} y(t) \\ z(t) \end{bmatrix} \oplus \begin{bmatrix} 0 \\ p\cos(10t) \end{bmatrix},$$
(4.13)

subject to, 
$$\begin{bmatrix} y(0) \\ z(0) \end{bmatrix} = \begin{bmatrix} y_0 \\ z_0 \end{bmatrix}$$
 and  $\begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_0 \\ z'_0 \end{bmatrix}$ , (4.14)

where  $\lambda$ -cut set of coefficients and initial values are  $s_1 = -3$ ,  $s_2 = 1$ ,  $s_3 = 1$ ,  $s_4 = -1$ ,  $[y_0]^{\lambda} = [z_0]^{\lambda} = [y'_0]^{\lambda} = [\lambda, 2 - \lambda]$ ,  $[z'_0]^{\lambda} = [p]^{\lambda} = [1 + \lambda, 3 - \lambda]$ . Taking HMF on both sides of (4.13) and (4.14), we have

$$\begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_y)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_z)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -3 & 1 \\ 1 & -1 \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_y) \\ z_{gr}(t,\lambda,\alpha_z) \end{bmatrix} + \begin{bmatrix} 0 \\ p_{gr}(\lambda,\alpha_1)\cos(10t) \end{bmatrix},$$
(4.15)

subject to, 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} y_{0_{gr}} \\ z_{0_{gr}} \end{bmatrix} and \begin{bmatrix} y'_{gr}(t_0) \\ z'_{gr}(t_0) \end{bmatrix} = \begin{bmatrix} y'_{0_{gr}} \\ z'_{0_{gr}} \end{bmatrix},$$
(4.16)

where  $p_{gr}(\lambda, \alpha_1) = [1 + \lambda + 2(1 - \lambda)\alpha_1]$ ,  $y_{0_{gr}}(\lambda, \alpha_2) = z_{0_{gr}}(\lambda, \alpha_2) = y'_{0_{gr}}(\lambda, \alpha_2) = [\lambda + 2(1 - \lambda)\alpha_2]$ ,  $z'_{0_{gr}}(\lambda, \alpha_2) = [1 + \lambda + 2(1 - \lambda)\alpha_1]$ , where  $\lambda$ ,  $\alpha_1 \alpha_2 \in [0, 1]$ .

$$\implies \begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -3 & 1 \\ 1 & -1 \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_1,\alpha_2) \\ z_{gr}(t,\lambda,\alpha_1,\alpha_2) \end{bmatrix} + \begin{bmatrix} 0 \\ [1+\lambda+2(1-\lambda)\alpha_1]\cos(10t) \end{bmatrix}, \qquad (4.17)$$

with, 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} \lambda + 2(1-\lambda)\alpha_2 \\ \lambda + 2(1-\lambda)\alpha_2 \end{bmatrix} \text{ and } \begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} \lambda + 2(1-\lambda)\alpha_2 \\ 1+\lambda + 2(1-\lambda)\alpha_1 \end{bmatrix}.$$
 (4.18)

The solution for system of equations (4.17) and (4.18) is

$$y_{gr}(t,\lambda,\alpha_1,\alpha_2) \text{ and } z_{gr}(t,\lambda,\alpha_1,\alpha_2).$$
 (4.19)

Applying inverse HMF on (4.19), we get

$$[y(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2)],$$
$$[z(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2)].$$

#### The $\lambda$ -level sets solution is enumerated using MATLAB and is illustrated in Figure 6



Figure 6. The black curve gives the solution at  $\lambda = 1$  for the system (4.13) and (4.14).

**Example 4.4.** (Three springs-two mass systems with external fuzzy force) Three springs supporting two masses on both sides and one another is depicts in Figure 7. Assume that there is no friction as the masses move and that each spring abides by Hooke's law. Let f(t) be the fuzzy force applying on mass  $M_1$  at time  $t \ge 0$ . If all the two masses rightward displacements (from their individual equilibrium positions) are positive, then

- (i) The first spring is extended by y(t).
- (ii) The second spring is extended by  $z(t) \ominus y(t)$ .
- (iii) The third spring is compressed by z(t).

The motion equations for the two masses are generated as follows:

$$M_1 \odot y_{gr}''(t) = -s_1 \odot y(t) \oplus s_2 \odot (z(t) \oplus y(t)) + f(t),$$
$$M_2 \odot z_{gr}''(t) = -s_2 \odot (z(t) \oplus y(t)) - s_3 \odot z(t),$$

with fuzzy initial values,  $y(0) = y_0$ ,  $z(0) = z_0$ ,  $y'_{gr}(0) = y'_0$ ,  $z'_{gr}(0) = z'_0$ .



Figure 7. Three springs-two masses systems.

The matrix form of system of equations is

$$\begin{bmatrix} y_{gr}''(t) \\ z_{gr}''(t) \end{bmatrix} = \begin{bmatrix} s_1 & s_2 \\ s_3 & s_4 \end{bmatrix} \otimes \begin{bmatrix} y(t) \\ z(t) \end{bmatrix} \oplus \begin{bmatrix} p\cos(10t) \\ 0 \end{bmatrix},$$
(4.20)

subject to, 
$$\begin{bmatrix} y(0) \\ z(0) \end{bmatrix} = \begin{bmatrix} y_0 \\ z_0 \end{bmatrix}$$
 and  $\begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} y'_0 \\ z'_0 \end{bmatrix}$ , (4.21)

where  $\lambda$ -cut set of coefficients and initial values are  $s_1 = -3$ ,  $s_2 = 1$ ,  $s_3 = 1$ ,  $s_4 = -3$ ,  $y_0 = 1$ ,  $z_0 = 1$ ,  $[y'_0]^{\lambda} = [\lambda, 2 - \lambda]$ ,  $[z'_0]^{\lambda} = [p]^{\lambda} = [1 + \lambda, 3 - \lambda]$ . Taking HMF on both sides of (4.20) and (4.21), we have

$$\begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_y)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_z)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -3 & 1 \\ 1 & -3 \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_y) \\ z_{gr}(t,\lambda,\alpha_z) \end{bmatrix} + \begin{bmatrix} p_{gr}(\lambda,\alpha_2)\cos(10t) \\ 0 \end{bmatrix}, \quad (4.22)$$

subject to, 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} y_{0_{gr}} \\ z_{0_{gr}} \end{bmatrix} and \begin{bmatrix} y'_{gr}(t_0) \\ z'_{gr}(t_0) \end{bmatrix} = \begin{bmatrix} y'_{0_{gr}} \\ z'_{0_{gr}} \end{bmatrix},$$
(4.23)

where  $p_{gr}(\lambda, \alpha_2) = [1 + \lambda + 2(1 - \lambda)\alpha_2], \quad y'_{0_{gr}}(\lambda, \alpha_1) = [\lambda + 2(1 - \lambda)\alpha_1], \quad z'_{0_{gr}}(\lambda, \alpha_2) = [1 + \lambda + 2(1 - \lambda)\alpha_1], \quad where \lambda, \alpha_1 \alpha_2 \in [0, 1].$ 

$$\implies \begin{bmatrix} \frac{\partial^2 y_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \\ \frac{\partial^2 z_{gr}(t,\lambda,\alpha_1,\alpha_2)}{\partial t^2} \end{bmatrix} = \begin{bmatrix} -3 & 1 \\ 1 & -3 \end{bmatrix} \begin{bmatrix} y_{gr}(t,\lambda,\alpha_1,\alpha_2) \\ z_{gr}(t,\lambda,\alpha_1,\alpha_2) \end{bmatrix} + \begin{bmatrix} [1+\lambda+2(1-\lambda)\alpha_2]\cos(10t) \\ 0 \end{bmatrix}, \qquad (4.24)$$

with 
$$\begin{bmatrix} y_{gr}(0) \\ z_{gr}(0) \end{bmatrix} = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$
 and  $\begin{bmatrix} y'_{gr}(0) \\ z'_{gr}(0) \end{bmatrix} = \begin{bmatrix} \lambda + 2(1-\lambda)\alpha_1 \\ 1+\lambda + 2(1-\lambda)\alpha_2 \end{bmatrix}$ . (4.25)

The solution for system of equations (4.24) and (4.25) is

$$y_{gr}(t,\lambda,\alpha_1,\alpha_2)$$
 and  $z_{gr}(t,\lambda,\alpha_1,\alpha_2)$ . (4.26)

Applying inverse HMF on (4.26), we get

$$[y(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} y_{gr}(t, \alpha, \alpha_1, \alpha_2)],$$
$$[z(t)]^{\lambda} = [\inf_{\lambda \le \alpha \le 1} \min_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2), \sup_{\lambda \le \alpha \le 1} \max_{\alpha_1, \alpha_2} z_{gr}(t, \alpha, \alpha_1, \alpha_2)].$$

#### The $\lambda$ -level sets solution is enumerated using MATLAB and is illustrated in Figure 8



Figure 8. The black curve gives the solution at  $\lambda = 1$  for the system (4.20) and (4.21).

#### 5. Conclusions

This paper mainly deals with determining solutions of SSLFDEs and applications to some mechanical problems. The granular differentiability is extended to n-dimensional fuzzy valued functions. The SSLFDEs with fuzzy initial conditions are investigated under gr-differentiability. An algorithm is developed to determine the solutions of SSLFDEs with fuzzy initial conditions. Some mechanical problems as automobiles with two axles, railway cars systems, and mass-spring systems with fuzzy initial conditions are demonstrated for the effective implementation of the algorithm. In the future, this work will be extended for higher-order SFDEs with fuzzy initial and boundary conditions.

**Conflicts of Interest:** The authors declare that there are no conflicts of interest regarding the publication of this paper.

#### References

- Y. Barazandeh, B. Ghazanfari, Approximate Solution for Systems of Fuzzy Differential Equations by Variational Iteration Method, Punjab Univ. J. Math. 51 (2019), 13-33.
- [2] R. Boukezzoula, L. Jaulin, D. Coquin, A New Methodology for Solving Fuzzy Systems of Equations: Thick Fuzzy Sets Based Approach, Fuzzy Sets Sys. 435 (2022), 107-128. https://doi.org/10.1016/j.fss.2021.06.003.
- [3] O.S. Fard, N. Ghal-Eh, Numerical Solutions for Linear System of First-Order Fuzzy Differential Equations With Fuzzy Constant Coefficients, Inform. Sci. 181 (2011), 4765-4779. https://doi.org/10.1016/j.ins.2011.06. 007.
- [4] N. Gasilov, Sh. G. Amrahov, A.G. Fatullayev, A Geometric Approach to Solve Fuzzy Linear Systems of Differential Equations, Appl. Math. Inform. Sci. 5 (2011), 484-499. https://doi.org/10.48550/arXiv.0910.4307.
- [5] M. Keshavarz, T. Allahviranloo, S. Abbasbandy, M.H. Modarressi, A Study of Fuzzy Methods for Solving System of Fuzzy Differential Equations, New Math. Nat. Comput. 17 (2021), 1-27. https://doi.org/10.1142/ S1793005721500010.
- [6] M. Mazandarani, N. Pariz, A.V. Kamyad, Granular Differentiability of Fuzzy-Number-Valued Functions, IEEE Trans. Fuzzy Syst. 26 (2017), 310-323. https://doi.org/10.1109/TFUZZ.2017.2659731.
- S.P. Mondal, N.A. Khan, O.A. Razzaq, S. Tudu, T.K. Roy, Adaptive Strategies for System of Fuzzy Differential Equation: Application of Arms Race Model, J. Math. Computer Sci. 18 (2018), 192-205. https://doi.org/10. 22436/jmcs.018.02.07.
- [8] S. Nagalakshmi, G.S. Kumar, B. Madavi, Solution for a System of First-Order Linear Fuzzy Boundary Value Problems, Int. J. Anal. Appl. 24 (2023), 4. https://doi.org/10.28924/2291-8639-21-2023-4.
- M. Najariyan, Yi. Zhao, The Explicit Solution of Fuzzy Singular Differential Equations Using Fuzzy Drazin Inverse Matrix, Soft Comput. 24 (2020), 11251–11264. https://doi.org/10.1007/s00500-020-05055-8.
- [10] M. Najariyan, N. Pariz, H. Vu, Fuzzy Linear Singular Differential Equations Under Granular Differentiability Concept, Fuzzy Sets Syst. 429 (2022), 169-187. https://doi.org/10.1016/j.fss.2021.01.003.
- [11] A. Piegat, M. Landowski, Solving Different Practical Granular Problems Under the Same System of Equations, Granular Comput. 3 (2018), 39-48. https://doi.org/10.1007/s41066-017-0054-5.
- [12] A. Piegat, M. Pluciński, The Differences Between the Horizontal Membership Function Used in Multidimensional Fuzzy Arithmetic and the Inverse Membership Function Used in Gradual Arithmetic, Granular Comput. 7 (2022), 751-760. https://doi.org/10.1007/s41066-021-00293-z.
- [13] C.H. Edwards, D.E. Penney, Differential Equations and Boundary Value Problems: Computing and Modeling, Fifth ed., Pearson Education, Boston, 2000.